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Limit03 Answers for No.9124

(
I o , o 2x—1 7 %
d=(lim 5x"-2x-2=1) 2=(lim (x*-3)(x"—1)=48) 3= lim = M
x—1 x—3 x4 2x+1 9 P
-2 1 5-4x+1 -1
.4:(lim [ :—J .5:{ lim —:—J .6=(lim +/x -3 =undefined) !
x—4 x—4 4 x—24 x—24 10 x—3 h
Ansl = )
| EES] o x-4 1)@
7=( lim |x—3|:4) 8= lim = undefined 9= lm T =7 M
X (-1) xo1 1—x x> 4+ |x —x—12| 7
4 4 6P 4x—12 u
A0=| lim 77-—"=0 Al=| lim —7——7  =undefined Math@MUT T
L x— 0+ |x| X x—(473) |3x—4| )
L
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=9 lim f(x)g(x)=20
x— 0+ x— 0+ x — 0-
3= o ftx) 4 :
1 = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 5 x—=0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.7)- x—(-5.7)+ x—(-5.7)
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Limit03 Answers for No.9197

(
I . 3 2 . 3 o 3x+1 7 )
A=(lim 4x +4x"-2x+3=9) 2=(lim (2x-3)(4x -2x+1)=309) 3= lim == M
x—1 x—3 x—2 2x-1 3 a
T—4x -1 AJx=5-1 -1
.4:[Iim IZ—J .5:(lim —:—J 6=(lim /1 —x = undefined)| | !
x—>49 x—49 14 xX—>6 6—x 2 x—3 h
Ansl = 5 ,
) . |x—3| ) |x—5x+4| @
7=( lim |x+1|:0) 8= lim = undefined 9= lim = M
x—(-1) x—3 3—X x> 1+ x—1
1 _ 13x-5| v
A0=| lim 7-—=0 Al=| lim ——— —=undefined Math@MUT T
L x— 0- |X| X x—>(5/3) 3x +x—10 1y
— B :I(_
d=[1lm f(x)=1, Iim f({x)=1, lim f(x)=1]
x —0- x— 0+ x—>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim fx)+g(x)=2 lim fx)—g(x)=2 lim f(x)g(x)=1
x— 0+ x—0- x— 0+
3= RC)) . f(x)
lim ——=-1 lim = undefined Math@MUT
L x —0- g(x) x—0 g(X) |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.7)- x—(-1.7)+ x—(-1.7)
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Limit03 Answers for No.9252

2
_ 42 115
. 2 . 2 . x+3x 76
A=(lim 3x"+4x=7) 2=(lim (x*-2x+3)(3x-4)=6) 3= lim ————="_ M
x—1 x—2 ro4 4x +1 65 u
-1 1 -5-3 1
) ) i |
Ans] — 1 o Xx—1 2 14 x—14 6 xo1 h
. . |x—3| ) |x2—3x+2| | @
7=(lim |x-3|=1) 8=/ lim = undefined 9=|lim ————=1||| y
xX—>2 x—3 3-x x— 1+ x—1 U
5 5 , 15x°+7x—4
10=| lim —=77=0]| .//=| lim = undefined Math@MUT T
L x>0+ X |x| x> (1/3) |3x—1| 11 )
_ . L'
d=[1lm f(x)=3, lim f(x)=3, lim f(x)=3]
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)-g(x)=7 lim f(x)g(x)=12
x—0- x— 0- x— 0+
3= . fx) 3 :
1 = lim f(x) - g(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-52)- x—=(-52)+ x—>(-5.2)
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Limit03 Answers for No.9312

x—>1

lim
Ansl =

x—(-1)

x— 0+

Ans2 =

7=( lim |x-2]=3)

d=(lim 5x°=3x+1=3) 2=(lim (3x*+3x—1)(4x>=3x)=945)

Jx-8

o
x — 64 64 —x

o

] x+2
lim 3 5 =
xol 2X +2x +3

S

(, 4 4
A0=| lim 77-—
x| x

3=

x—3
-1 4—-4x+3 -1
—J .5=[lim —:_J .6=(lim 4/ 1—x = undefined)
16 13 x—13 8 x—2
. - , |f—3x+2|
8=\ lim 77 =undefined 9= lm —=-1
x—>1 X—1| x—1- x—1
) |3x—5|
=0 Al=| lim ——— " =undefined Math@MUT
x(5/3) 6x—Tx-5

J=[lim f(x)=5, lim f(x)=5, lim f(x)=5]

x—0-

2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |

x—0

x—0-

lim f(x)+g(x)=10

x— 0+

. f(x)
lim =
x—0- g()C)

A=(lim f(x)=0)

Ans3 =
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x—1-

lim f(x)=-3.)

-1

x— 0+

x— 0+

lim f(x)-g(x)=0

x—0

lim f(x)g(x)=-25

x— 0+ x—0-
. gx)
lim = undefined Math@MUT
x—>0 f(x a
2=(lm f(x)=1) J3=(lim f(x)=undefined)
x— 1+ x—>1
S=(C lim flx)=-3.) .6=( lim f(x)=-3.)
x—(-2.3)

x—(-23)+

R LR T




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XXX KKXXXKXXME/1-6500504-00005XX
Limit03 Answers for No.9397

J

I 2x-1 1
A =(lim 3x3+4x+3:lO) 2=(lim (3x+3)(4x3—x+4):42) .3:(lim 3 2 =
o1 1 v3 2xX —4x +4x 6
4 (1' 100 - x 20} 5 (1‘ X 2} 6= (lim +/x—3 = undefined)
A= lim ——== S=|lm ——=- 6=(lim +/x—3 = undefine
x—>100 10 —4/x xo3 Ax—-2-1 X2
Ansl = )
| - |x-3] ¥ 16
7=(lim |x+3]|=4) 8=/ lim = undefined 9= lim /=28
x—1 x—3 x—3 X — 4- X —
. 2 . [6x-5]
A0=| lim 77—-—=w A= lim 5 = undefined Math@MUT
x — 0- |x| X x—>(5/6) 30x =49 x+ 20
Ad=[lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=-5 lim f(x)g(x)=4
x— 0- x—0- x— 0+
3= o fx) 1 g(x)
lim = = undefined Math@MUT
L x— 0+ g(x) 4 x—>0 f(X) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-6.) S=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.8)- x—(-5.8)+
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Limit03 Answers for No.9449

(0
. 3 2 . > . 4x*+3x+1 46_ )
A=(lim 3x"+3x"+1=109) 2=(lm (2x"—x-3)(2x+2)=18) I=|lim ————————— = M
x—3 x—2 x—3 4x+3 15
9 1 11 “
X — X —
.4:[hm. =—J .5=(hm —_____—:6] .6=(lim +/x—3 =undefined) !
Ans] v»s Xx—81 18 x>11 A/x=2-3 X2 h
. 1-x e | @
7=(lim |x-2|=1) 8=| lim T = undefined 9=| lim =2 Y,
x—1 x—1 x_1| x -1+ x—1 U
5 5 _ 6x —11x+4
A0=| lim —+77=w A= lim = undefined Math@MUT r
L x>0+ X |x| x> (4/3) |3x—4| 4100
_ . L
d=[1lm f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x)g(x)=-16
x—0- x— 0+ x = 0-
3= . fx) :
lim =1 lim f(x) - g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-4.9)- x—(-4.9)+
[Page = 0006]

x—(-4.9)
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Limit03 Answers for No.9562

(
I , ., , , o 22+3x 2| Y
d=(lim 5x —x"-2x=2) 2=(lm (x-1)2x" +x-1)=9) S=llim — =" M
x> 1 X2 o4 dx +2x+2 37 4
-3 -1 x-2-5 -1
.4=(lim x :—) .5:[lim —:—) 6=(lim +/2 —x = undefined) | | !
rs9 9-—x 6 x—27 27 -x 10 x—3 h
Ansl = ,
7= (lim |x-3]=2) 8—(lim i—1,mareﬁnear] 9—(lim X2 —1] @
' x> 1 ' X2 X—2| ' x5+ |x2—3x—10| 7 Al;[
3 3 _ 8x*—26x+15
A0=| lim —+7 7= AI=| lim = undefined Math@MUT T
L x>0+ X |x| x—>(5/2) |2x—5| 41
_ . L]
d=[1lim f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=-1 lim f(x) g(x)=20
x— 0- x— 0+ x = 0+
3= . fx) 4 :
lim = lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) 5 x—0 A
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.5)- x—(-5.5)+ x—(-5.5)
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Limit03 Answers for No.9721

x—3 x—2
2—-4x -1 x-9
.4:(lim [:—j .5=(lim —=4] .6=(lim 4/ 1—x =undefined)
x4 X—4 4 x59 A/x—5-2 x—>3
Ansl = )
) ) |x—1| ) |x +4x—5|
7=( lim |x-3|=5) 8=/ lim = undefined 9=| lim —————=-
x—(-2) vl x—1 x—1- x—1
' 4 _ 18x°+9x—2
A0=| lim 77—-—=0 Al=| lim = undefined Math@MUT
L x— 0+ |x| X x—(1/6) |6x—1|
Ad=[lm f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=1 lim f(x)-g(x)=-1 lim f(x) g(x)=-20
x— 0+ x—0- x— 0+
3= ftx) 5 :
im = lim f(x) g(x) = undefined Math@MUT
L x — 0- g(X) 4 x—>0 a
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x> (-4.6)- X (-4.6)+ x> (-46)
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d=(lim 3x —4x>+x+2=50)

2=(lim (5x+2)(3x +3x-3)=180) lim

x—3

( _1)
x—2 4x-1 7

d

S

Lo mag®@s~8r gk
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(
r 4x+2 %
: 3 2 : 3 2 : X+
d=(lim 3x+2x"+x—-1=5) 2=(lim (x+1)(4x -3x+3x)=78) 3= lim =7 M
x—1 x—2 x—3 x—1 a
4 (1‘ x4 4} 5 (1' 18 SJ 6=(lim +/x—3 = undefined) || !
4 =| lim =- S=| lim 7= .6 =(lim +/x—3 = undefine
x4 2—«/; x>18 A/x—2 —4 x—3 h
Ansl = |x—3| v_2 | @
7=( lim |x-2]|=3) .8:(lim :undeﬁnedj .9=(lim 2—:4}
x—(-1) r>3 3-X x—2- |x —3x+2| M
2 U
) 1 1 ) 2x"+x—-6
A0=| lim 77-—=0 Al=| lim -7 =undefined Math@MUT T
L x>0+ |x| x x—>(3/2) |2x—3| 1
— _:I(_
Ad=[lim f(x)=1, lim f(x)=1, lim f(x)=1]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=4 lim f(x)—g(x)=4 lim f(x)g(x)=3
x— 0+ x — 0- x— 0+
3= . fte) -l . gx)
lim ——=— lim = undefined Math@MUT
L x —0- g(x) 3 x—>0 f(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (2.7)- x> (2.7)+ x—(27)
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Limit03 Answers for No.9795

_:_(_
_ i 2 . 2 C2xX-3x"+4 31)] )
Ad=(lim 5x"+4=49) 2=(lim (2x+3)(4x" +2x+1)=147) 3=|lm —————————— = M
x—3 x—2 x—3 4x+2 14 a
x-8 -l 3—4x+4 1
.4:[ lim :—J .5:(lim —:—j 6=(lim 4/x—1 =undefined) t
x— 64 64 —x 16 x—5 S5—x 6 x—>1 h
Ansl = 5 ,
. _|x-2] -8 x+15) @
7=( lim |x—2|=4) 8= lim = undefined 9=| lim =2 M
x—(-2) xs2 X2 x5+ x=5 U
303 . [5x4
A0=| lm 77-—=0| .//=| lim 5 = undefined Math@MUT T
L x>0+ |x| x x>4/5 10x" =23 x+ 12 Iy
— -— - :I(_
d=[1lm f(x)=-1, lim f(x)=-1, lim f(x)=-1]
x—0- x— 0+ x>0
2=[lim g(x)=-4, lim g(x)=4, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=3 lim f(x) g(x)=-4
x— 0+ x—0- x— 0+
3= . fx) 1 ,
lim =— lim f(x)+ g(x) = undefined Math@MUT
L x—0- g(X) 4 x—0 a
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x = 3- x =3+ x—>3
4= lim flx)=-1.) S=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.8)- x—(-1.8)+ x—(-1.8)
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Limit03 Answers for No.9839

(
2 T 2)
. 3 5 . N N o 3x -3x
d=(lim 2x +3x"-2x+2=26) 2=(lim (4x"-1)(x"+3x+2)=700) J3=|1lim ————=0 M
x—2 x—3 x—1 x+2 a
4 [1' x 04 16} 5 (1' 2 X 2) 6=(lim /Jx—1=1) t
4= lim = S=| lim —F—= H=(lim 4/x—-1=
x — 64 «/7—8 xo(2) 1—4x+3 x—2 h
Ansl = ) ,
. ox—1 . |x +x—6| @
7=( lim |x-1]|=3) 8= lim T = undefined 9=| lim ————=51|| 4
x—(-2) x— 1 X—1| x— 2+ x=2 U
4 4 , 12x* =23 x+ 10
A0=| lim —-77=0 AI=| lim = undefined Math@MUT T
L x>0+ X |X| x—(2/3) |3X—2| . )
L'
Ad=[1lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)="-3 lim f(x)—g(x)=1 lim f(x)g(x)=-2
x— 0- x—0- x— 0+
3= o flx) -l :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(x) 2 x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fi(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-2.5)- x—(-2.5)+
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Limit03 Answers for No.9843

x—4 1]
d=(lim X +x*=3x+1=28) 2=(lim (2xX -2x"-3x)(3x—4)=4) .3:(lim z—z—j
x—>3 x—>2 >3 Sx —2x+4 43
- X x—22
.4:(lim :16j .5=[lim —:-IOJ 6= (lim 43 —x =undefined)
x—>64 8—4/X x>2 5—-4x+3 x—3
Anst = 2—x x—1 1 [
7=(lim |x+1]|=2) .8=(lim —:undeﬁnedj .9:(lim 2—:—}
x> 1 X2 |X—2| x> 1+ |x +2x—3| 4
.3 3 , |5x-2|
A0=| lim 77-—=0 Al=| lim 5 = undefined Math@MUT
L x—0- |x| X x> (2/5) SxT—22x+8 i
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=2 lim f(x)—g(x)=-2 lim f(x)g(x)=15
x— 0- x— 0+ x— 0+
3= . f(x) 3 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 5 x—=0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim flx)=-4.) S5=( lim f{x)=-4) .6=( lim f(x)=-4.)
x> (-3.5)-

x—(-3.5)+
[Page = 0012]

x—(-3.5)

Sl NoE@s 8 gelk
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Limit03 Answers for No.9854

(
I _ ) , R 28 +3x+2 7)Y
d=(lm 2x"+2x=12) 2=(lim (4x-3)(2x —2x"+x)=351) I=lm ——————— =7 M
x—>2 x—3 x—1 x+2 3 4
64 —x 2—4x+1 1
.4=£ lim :—16J .5=[lim —:—J 6=(lim +/x—3 =undefined) | | !
Ansl = T 64 ‘/7_8 x—>3 3-x 4 X3 h
. . |x—2| . |x2+2x—15| | @
7=(lim |x-3|=2) 8= lim = undefined 9=| lim =8 (|| a
x—1 xX—=>2 2-x x—3- x-3 U
5 5 , |3x—4]
A0=| lim 7—5-—=0| .II=| lim 5 = undefined Math@MUT T
x— 0+ |x| X x—(4/3) 3x =19x+20 Iy
_ i L'
Ad=[1lim f(x)=-1, lim f(x)=-1, lim f(x)=-1]
x—0- x =0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=2 lim f(x) g(x)=-3
x— 0- x—0- x— 0+
3= o flx) -l :
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.1)- x—(-3.1)+ x—(-3.1)
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Limit03 Answers for No.9862

_i_
I o _ s , x+4 3\ Y
A=(lim 3x -4x+2=1) 2=(lim (4x-1)(2x +4x"+1)=1001) 3=|lm — =7 M

x—1 x—3 v52 Sx —x-4 7
7-4fx -1 x-23 “
.4:(lim :—j .5:(lim —:-10] 6=(lim +/3-x=4/2) t
x—49 x—49 14 x—>23 S—a/x+2 x—1 h

Ansl = ) ,

. . x-1 . |x —5x+4| @
.7=(lim |x—2|:0) 8=| lim 7 =undefined 9= lm ————=-3 M
x—2 x—>1 X—1| x—1- x—1 U
S , 3x°+2x—8
A0=| lim —=77=0 Al=| lim —-—— 7 =undefined Math@MUT T
L x>0+ X |x| x> (4/3) |3X—4| 11 )
— _:I(_
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=-1 lim f(x)g(x)=-6
x— 0- x—0- x— 0+
3= M) 3
lim = lim f(x)— g(x) = undefined Math@MUT

L x— 0+ g(x) 2 x—>0 |

Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3

| 4=( lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.1)- x—(-3.1)+ x—(-3.1)
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o
x—1

Limit03 Answers for No.10278

x—>3
lim

Ansl =

x> (-1)

) 2
.10=(11m - =
x—>0- X

Ans2 =

Ans3 = 4

X [Page 0015]

d=(lim X’ —4x=-3)

6—J;_lq

o ;
x—36 36 —x 12

7=( lim |x-1|=2)

2

|-

| x

3=

=

.8

Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]

x—0-

N
(im
x—1

2=(lim (5x—1)(2x’—4)=-8)

x—1

|

lim

) el i L
x—>(2/3) 3x —14x+8

lim
x—21

S—Vx+4_jJ
10

x—21

|x—1

) | = undeﬁned}

"

X —

|3x-2

= undeﬁned}

x— 0+ x—0

2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]

6=

33X —3x43 3]
hm - . =

4x° -2 2
(lim +/x—1=4/2)
x—3

x—-2

-1
|x2—x—2|: 3j

Math@MUT

lim
x—> 2-

x— 0- x— 0+ x—0
lim f(x)+g(x)=2 lim f(x)—-g(x)=-8 lim f(x)g(x)=15
x— 0- x— 0- x— 0+
. fx) 3 :
lim = lim f(x) g(x) = undefined Math@MUT
x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
x—5- x— 5+ x—5
lim f(x)=-5.) .5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x—(-4.6)+ x—(-4.6)

x> (-4.6)-

Lo Nmag@®@s~r gk
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Limit03 Answers for No.10361

(
B . 3 2 . 2 2 . B )
A=(lm 4x +3x"+3=138) 2=(lim (4x +3x+1)(4x —x+3)=391) JI=(lim 1=1) M
x—>3 x—o?2 x—2
a
x-3 -1 l—4x+4 1
.4:{lim :—J .5:{ lim —:—j .6=(lim 4/ x—3 =undefined) t
x—9 9—x 6 x—(-3) -3-x 2 x—1 h
Ansl = - x—-3 1)p
7=( lim |x+2]=0) .8:[lim :undeﬁnedj .9:(lim . =—] @
¥ (-2) x>2 27X x> 3+ |x —8x+15| 2 M
2 2 _ |5x—1] U
A0=| lIlm —+77=o Al=| lim ————=undefined Math@MUT T
L x>0+ X |x| x> (1/5) S5x +9x-2 1y
L
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=-3 lim f(x)g(x)=10
x —0- x— 0+ x— 0+
3= . ftx) 2 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) x—=0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-5) S5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-52)- x—=(-52)+ x—>(-5.2)
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Limit03 Answers for No.10532

_l_
_ : 3,2 o 22+ 1 19)]] Y
A=(lim 4x -2x " +4x-3=29) 2=(lim (x*-3x+4)(4x+2)=12) 3= lim = M

X2 x> 1 -3 x —4 5 a
6—4x 1 28 —x
.4=[lim [=—j .5=(lim —=-10j G=(lim {x—1=42)[] !
Ans] = x36 36—x 12 x—>28 A/x—3 -5 x—3 h
. . 1 —x . x-1 -1l @
7=(lim |x-3|=1) 8= lim T = undefined 9= lim ———=—1||
X2 x> 1 X—1| x> 1 |x—1| 2 U
.5 5 . |3x-1]
A0=| lm 7—7-—=0 Al=| lim 5 = undefined Math@MUT T
L x -0+ |X| X x> (1/3) 3x —13x+4 Iy
_ . L
d=[1lim f(x)=2, lim f(x)=2, lim f(x)=2]
x = 0- x— 0+ x—>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+gx)=4 lim f(x)—g(x)=0 lim f(x)g(x)=-4
x— 0+ x— 0+ x = 0-
3= . ftx) . gx)
lim =-1 lim = undefined Math@MUT
L x — 0- g(X) x—>0 f(X) |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-12)- x—(-1.2)+
[Page = 0017]

x—(-1.2)
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6= (lim 4/1—x = undefined)

Limit03 Answers for No.10688

x—>1

d=(lim 2x’+2x*=2=2) .2=(lim (3x'=2x-3)(3x" +2x)=-10)

»

,4=( x-S IJ .5=(lim

X [Page = 0018]

.3:[lim

x—3 x+4

lim = T
Ans] = xo2s X—=25 10 x>2 Ax—4 -5 xo2
I —x x—4
7=(lim |x+2|=4) .8=(Iim —=undeﬁnedj .9=(lim -
X2 x> 1 X—1| x> 4+ |x -2x-8
4 4 _ 10x*—13x+4
A0=| lim —+77=0 Al=| lim = undefined Math@MUT
L x>0+ X |x| x—>(4/5)
I d=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4] ]
x —0- x—>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x—>0
Ans2 = lim f(x)+g(x)=-9 lim f(x)—g(x)=-9 lim f(x)g(x)=20
x — 0- x — 0-
3=l o) 4 )
lim ——=— = undefined Math@MUT
L x— 0+ g(X) 5 a
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x—1
l4=( lim f(x)=-2.) .5=( f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.2)

2% +4 22
7

1

|6

|

=

LR NORE® s~ s TR

x> (-1.2)-
000.0:0:0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0.4
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Limit03 Answers for No.10868

(
i 2 11 )
. 3 . 3 . X +4x+1 3
d=(lim 4x +4x+1=121) 2=(lim (3x-1)(2x +4x)=120) S3=1lim ————=— M
x—3 x—>2 x—4 Sx+2 2 a
x-9 x+1
.4=[lim :6j .5:( lim —=-4J 6=(lim +/x -3 =undefined) | | !
x>9 A/x =3 xo (1) 2—4x+5 X2 h
Ansl = 1 —x x-5 N @
7=( lim |x-2|=5) .8:(lim —:undeﬁnedJ .9:(lim 5 :—j by,
x> (-3) X1 |X—1| P |x —8x+15| 2
33 204 -23x46 v
A0=| lim ——77=-0 Al=| lim = undefined Math@MUT T
L x—>0- X |x| x—>(3/4) |4x—3| 1)
~ . L'
d=[1lim f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=7 lim f(x)-gx)=1 lim f(x)g(x)=-12
x— 0+ x— 0+ x —0-
A=) 4 ew)
lim ——=—" lim = undefined Math@MUT
L x—0- g(X) 3 x—>0 f(X) |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (2.2)- x> (22)+ x> (2.2)
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Limit03 Answers for No.10900

(
I o , . 5P +4x+2 10)]] Y
A=(lim x"+4=5) 2=(lim 2x-1)(2x +2x-4)=280) 3=|lm —— =" M
x> 1 X3 xs2  SxT+1 7 p
x—1 x—23
.4:(lim :-2] .5:[lim —z-IO] .6=(lim +/ 1 —x =undefined) t
x>l 1—«/; x—>23 S—4/x+2 x> 1 h
Ansl = ,
_ o |x-2] 443 @
7=( lim |x+3|=1) 8= lim = undefined 9=| lim = Y,
x> (-2) xo2 X—2 x> 1+ x—1 U
3 3 _ 30x°-29x+4
A0=| lim —-77=0| .//=| lim = undefined Math@MUT T
L x>0+ X |x| x> (1/6) |6x—1| 41
L
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-2 lim f(x)—g(x)=2 lim f(x) g(x)=15
x— 0- x— 0+ x— 0+
3= . ftx) S5 :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x — 0- g(X) 3 x—0 A
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.6)- x—(-5.6)+ x—(-5.6)
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Limit03 Answers for No.11693

_iﬁ_
[ o , , 4P -3x-4 6)|]
A=(lim 3x"-2=10) 2=(lim (3x"—x)(2x+2)=8) S={lm — ="~ M
x—>2 x—>1 xo2 4x +x+1 19 a
-2 1 3—4x+2 1
.4:[lim x :—j .5:[lim —x——] 6=(lim 43-x=1) !
Ansl = xoe X—4 4 x—>7 T-x 6 x—>2 h
, o ]x=3) ox=2 1) [|l@
7=( lim |x-3]|=6) 8=| lim = undefined 9= lim == Y,
x> (-3) r53 3—X xeﬁwx —4| 4 U
4 4 _ |5x—4]
A0=| lim ——-7—7=0| .I/=| Ilim 5 = undefined Math@MUT T
L x>0+ X |x| x—>(4/5) 15x —2x-8 Iy
_ . L'
Ad=[lim f(x)=1, lim f(x)=1, lim f(x)=1]
x —0- x— 0+ x—>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=2 lim f(x)-g(x)=2 lim f(x)g(x)=1
x— 0+ x — 0- x— 0+
3= - fx) :
lim =-1 lim f(x)+ g(x) = undefined Math@MUT
L x—0- g(X) x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.4)- x—(-1.4)+
[Page = 0021]

x—(-1.4)
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Limit03 Answers for No.12097

J=(lim 3x"—2x+2=23)

x—3
4 (1' x—49 14)
4 = m = -
x — 49 7—1/;

Ansl =
7=( lim |x-3|=6)

x—(-3)

x— 0+

A=

X [Page = 0022]

) 2 2
0= Ilm 7—7-—"=0 Al = 5
|x| X x—>2/3) 3x —14x+8

x—0-

2=[lim g(x)=-1, Iim g(x)=-1, lim g(x)=-1]

2=(lim 3x-3)(4x"+x—1)=228)

x—3

5 (1‘ 2oy 2]

S=| Im —F—=
x(2) 1—4x+3

.8:(lim — |:undeﬁned]
x—3 3-x

|3x-2]

lim = undeﬁned}

x—>0

Ad=[1lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]

x— 0+

x—(-1.6)+

.3:(lim

X2 4x-1 7

.6=(lim +/x—3 =undefined)
x—2

) x—1 -1

9= lim T =7

x> 1- |x +4x—5| 6

Math@MUT

x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=0 lim f(x) g(x)=-1
x— 0+ x—0- x— 0+
3= - fx) ,
lim =1 lim f(x)— g(x) = undefined Math@MUT
L x — 0- g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
lim f(x)=-1.) S5=( lm f(x)=-1.) .6=( lim f(x)=-1.)
x—(-1.6)

4x3+3x2+3x_@J_

S

R LR T

x— (-1.6)-
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Limit03 Answers for No.12172
(
i , . , , . 3x-3 9 %
A=(lm 2x +2x"+3x+2=83) 2=(lm (5x"+2x-3)(3x+4)=210) 3= lim = M
x—3 xX—>2 x—>4 4x-2 14
[ a
8—4/x 1 3—-4/x+5 -1
.4:[ lim =—] .5:(lim —:—] 6=(lim +/x—3 =undefined)| | !
Ans] — o4 04—x 16 o4 X—4 6 X2 h
_ _ l—x _ x—4 1) | @
7=(lim |x-3]|=1) 8=| lim T = undefined 9= lim ———==||| i
¥ >2 e [x=1] iod | Pox—12| 7
. 4 4 ) |3x—2| U
A0=| lim 7—7-—=0 11=| lim 5 = undefined Math@MUT T
L x = 0+ |x| X x—>2/3) 3x —14x+8 oy
L
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=1 lim f(x)g(x)=12
x— 0+ x —0- x — 0-
3= . fx) 3 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) 4 x—>0 A
d=(lim f(x)=5) 2=(lim f(x)=6) J3=(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.2)

x—(-3.2)- x—(-3.2)+
):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.0:9.9:9.0:9.9:9.9:0:0:9.9:9:9:9:9:9:9.9:9.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:0:9:0:0:0.9:9.9:0.9:0.0:0.0:9.0:9.0:9.0:9.0:9.0.0.0:0.0:0.9:9:9:0:9.0:0.¢
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Limit03 Answers for No.12173

o
| . 3 2 . 2 o 2xX+x-1 35 11
Ad=(lm x+4x" +4x-2=7) 2=(lm (2x"-2x)(3x-1)=96) S=|lim —— =" M
x— 1 x—>3 x4 2x+2 34 a
I -x 4—-x
.4=(lim =2J .5:[lim —:a] 6=(lim /1 —x = undefined) || !
x> 1 1—«/; x4 AYx—-3 -1 x—2 h
Ansl = 5 5
) ) X — ) |x —3x+2| @
7=( lim |x-3|=4) 8=| lim T = undefined 9=| lim T————=1||
x—(-1) x—3 X—3| x—> 2+ x—2 U
_ 4 _ 5x°—19x+12
d0=| lim 77-—=0o AI=| lim = undefined Math@MUT T
L x—0- |x| X x—(4/5) |5x—4| — )
_ i L
d=[1lm f(x)=-1, im f(x)=-1, lim f(x)=-1]
x —0- x— 0+ x—>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)—g(x)=-4 lim f(x)g(x)=3
x = 0- x— 0+ x = 0-
3= . fx) - :
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fi(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-3.1)- x—(-3.1)+ x—(-3.1)
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Limit03 Answers for No.12180
(
i 45 11 2)
) 3 ) ) ) 5 ) x —x—-2 250
d=(lim 3x —4x" +2x+1=13) 2=(lim (3x"+x)(x"—3)=180) 3= lim = M
x—2 x—3 x—4 x—1 3 a
] 49 — x ) 11 —x ]
4=| lim =14 S=| lim ——=-6 6=(lim +/x -2 = undefined)|| !
x—>49 T —4/x x>11 4/x—2 -3 x—>2 h
Ansl = ) ,
| x=2] [5x4 @
7=(lim |x+3]|=5) 8=| lim = undefined 9=| lim —————=3[| 4,
x—>2 x—2 X~ x—1- x—1 U
4 4 _ 5x°—14x+8
A0=| lim —+77=0 A1=| lim = undefined Math@MUT T
i coo0 X x| sy |Sx—4] )
_ . L
d=[1lm f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x = 0- x— 0+ x—0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-9 lim f(x)—g(x)=-9 lim f(x) g(x)=-20
x—0- x— 0+ x— 0+
3= fix) 4 :
im = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 5 x—=0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.1)- x> (A1)t x> (-41)
0025] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXX KX KX KKK KX KX KX XXX KX KKK KX KX KKK KX XX KX KKK KX KX KKK KX KX KKK KX KX KKK
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2 19

Limit03 Answers for No.12256

X [Page

lim

o

(
| 3 2 3 2 )
A=(lim 4x +4x"-1=47) 2=(lim (2x-1)(2x +3x"+4)=96) M

x—>2 x—>2 x4 3x -2x-2
§—ofx -1 x—1 .
.4=[lim =—J .5=[1im —=-4J 6=(lim 4/3-x=1) !
Ans] — roes X—64 16 x>l 2—4/x+3 X2 h
-1 x-2 1) | @
7=( lim |x-1]|=4) .8:[lim | |:undeﬁnedJ .9=(lim 2—:—] Y,
x> (3) x>l L=X X—>2- |x +2x—8| 6
| 3 | |54 Y
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
L x—>0- X |x| xo4/5) SxT+11x-12 Iy
L
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim fx)+g(x)=10 lim f(x)-g(x)=-10  lim f(x)g(x)=-25
x— 0+ x —0- x— 0-
3= . f(x) :
lim =1 lim f(x) g(x) = undefined Math@MUT
x— 0+ g(X) x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (22)- x> (22)+ x> (2.2)
S ISP 00:00:00:0:0:0:0:0:0:0:0:0:00.00:0.0.0.0:0.0.:0:0.:0:0.0.0:0.0.0.0.0.0.0.:0.0:0:0.0.0.0:0:0.0.0:0.0.0.0.0.0.0.0:0:0.0:0.0:0.0.0.0.0.0.0.0:0.0'0.0'0:0.0:0.0.0.0.0.0.0.0:0.0.0:0:0:0.0.:0.0.0.0.0.0¢
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Limit03 Answer

Ansl =

X [Page = 0027]

s for No.12278

. 2 ) ) . 2x°—2x-3 |
Ad=(lim 5x"-1=19) 2=(lm (5x+3)(x"+x+1)=234) J3=| im — = undefined
x—>2 [ x—3 x—1 3x-3
4—-4x -1 -2-x
4=| lim =—] .5=( lim —=2J 6=(lim 43 -x=1)
[xam x—16 8 xo(2) 1—4/x+3 x—2
. . X — . x-=5 -1
7=(lim |x-2|=1) 8= lim T = undefined 9= lim — =—
x> 1 x> 1 X—1| X5 |x —3x—10| 7
, 1 o 12X°+7x-10
10=| lm —-77=0| .//=| lim = undefined Math@MUT
x—0+ X |x| x—(2/3) |3X—2| i
i J=[lim f(x)=35, lim f(x)=5, lim f(x)=5] |
x = 0- x— 0+ x—>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=38 lim f(x)—g(x)=2 lim f(x) g(x)=-15
x— 0+ x— 0+ x— 0-
3= o fx) - :
lim = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
A4=(C lim f(x)=-5) S=( lim f(x)=-5) .6=( lim f(x)=-5.)
x> (-4.6)- x> (-4.6)+ x> (-4.6)

(e N RS~ Rk

~
L

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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Limit03 Answers for No.12482

X

(
_1 (lim x* 1=1) 2=(lim (5x°+1)(x=2)=-6) 3 [1' -l L ] .
d=(lim x"+x-1= 2=(lim (5x" + x—2)=- 3= lim = M
x—1 x—1 x—>4 3X3—2X2—3 157 a
9—x 4—9x+5 -1
.4=[lim =6] .5:( lim —:—] .6=(lim +/x—2 =undefined) !
X9 3—«/; ro1 x—11 8 X2 h
Ansl = )
| o d-x -9 @
7=( lim |x+3]|=1) 8=| lim 77 = undefined 9=| lim =6 M
x—(-2) x—1 X—1| T U
11 ' |4x-5]
A0=| lim —+77=0| .//=| lim 5 = undefined Math@MUT T
L x—>0- X |x| xo>(5/4) 4x —17x+15 B,
) i L ..!(_
d=[1lim f(x)=2, lim f(x)=2, lim f(x)=2]
x = 0- x— 0+ x—>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+gx)=3 lim f(x)-g(x)=3 lim f(x)g(x)=-2
x— 0+ x—0- x—0-
3= . fx) g(x)
lim =2 = undefined Math@MUT
L x— 0+ g(X) x—>0 f(x |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.6)- x—(-1.6)+ x—(-1.6)
[Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXX KX KX KKK KX KX XXX KX KX KKK XX KX KX KKK KX KX KKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX KKK KKK KKK KKXXXKXXME/1-6500504-00029XX
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2
_ R _ . 582 +3x+3 57)]| Y
Ad=(lim 4x -3x"-2x=16) 2=(lm (5x+x-4)(x-2)=0) S=|lm — =" M
X2 X2 v>3 4x =3x-2 25 u
9—4x -1 Ax=3-5 -1
.4:(lim fz—J .5:(lim —:—J 6=(lim 41 —x = undefined) || °
Ans] = s x—81 18 x28  28-x 10 x—3 h
) ) x—2 ) |x2—7x+10| | @
J=( lim |x-1]|=3) 8=| lim 77 = undefined 9=/ lim =30l »
x—>(-2) x—2 X—2| x =2+ x—2 U
2 2 , |6x-5|
A0=| lim —+7 7= Al1=| lim 5 = undefined Math@MUT T
L x>0+ X |x| x(5/6) 18x =3 x—-10 Iy
L'
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim gx)=1, lim g(x)=1, Iim g(x)=1]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=-6 lim f(x)g(x)=5
x — 0- x = 0- x— 0+
3= . fx) :
lim =5 lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x> (23)-

x—(-23)+ x—(-2.3)
[Page = 0029]
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Limit03 Answers for No.12677

(
i 5 i 5 i x+1 11 ¥
A=(lim 5x"+2=22) 2=(lim (x+1)(2x"+4x)=48) 3 =| lim =3 M
x—2 x—2 x—2 2x-3 a
81 —x AJx—4-2 1
.4=(lim :ISJ .5=[lim —:—] 6=(lim 4/x—1=1) !
x> 8l 9—%? rsg  X—38 4 X2 h
Ansl = )
) ] 3—x ) x—4 1 @
7=( lim |x+3]|=2) 8= lim T = undefined 9=| lim ———=2||| ,,
x> (-1) xe3|X—3| xaM»hf—x—12| 7
4 4 10— 11x-6 v
A0=| lim —+77=0w/| .Il=| Ilim = undefined Math@MUT T
L x>0+ X |X| x—>(3/2) |2X—3| S
L'
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=2 lim f(x) g(x)=-8
x— 0+ x— 0+ x = 0-
3= . fx) :
lim =-2 lim f(x) g(x) = undefined Math@MUT
L x—0- g(x) x—0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x— (-43)- x—(-43)+
[Page = 0030]

x> (-4.3)
000.0:0:0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXKXXXKX XXX XXX XKLL XKL XKL LKL KKK LXK LXK XKL X KKK KKK KKKKKKME6/1-6500504-00031XX

X [Page

Limit03 Answers for No.13490
(
| . 3 2 ) ) . 2x7—x+3 11 9
Ad=(lim 3x+3x"+3x=117) 2=(lim (5x-4)(5x" +3x+1)=9) B=|lm ————=-9 M
x—>3 x—>1 X2 x-3 a
4—-4x 1 Vyx—-4-5 -1
.4:(lim [:—) .5:(lim —:—) 6=(lim /3-x=1) !
ro16 16—x 8 2  29-x 10 X2 h
Ansl = ) \
. . - . |x +x—12| @
7=( lim |x+3|=1) 8=| lim T—— = undefined 9=| lim ——————=7|||
x = (-2) x—2 X—2| x> 3- x—3
2 U
) ) 12x"-=5x-3
A0=| lim 77-—=o dI=| lim = undefined Math@MUT T
L x — 0- |x| X x—(3/4) |4X—3| 11
_ . L
d=[1lm f(x)=5, lim f(x)=5,lim f(x)=5]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=10 lim f(x)—g(x)=10 lim f(x) g(x)=-25
x— 0+ x— 0- x— 0-
3= . f(x) :
lim =1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x—(-5.8)- x—(-5.8)+ x—(-5.8)
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Limit03 Answers for No.13500

s , , , o 5 +4x+2 59)]
A=(lim 2x" —4x"+3x=27) 2=(lm (3x" -3x+4)(4x —x—-4)=-4) 3=|lm —————— =
x—3

o1 cs3 Sx+1 16
4 (1' x4 14} 5 (1' 2 2}
4= m = D= m —  — =

Ans] — x—>49 «/;—7

x>(2) 1—4/x+3

.6 =(lim 4/3 —x = undefined)

Lo Nmag®@s~8r gk

x—3
. . |x—1| . |x2—7x+12|
7=( lim |x-2|=5) 8=| lim = undefined 9=/ lim =-1
x—(-3) x—>1 1 -x X —4- x—4
4 4 , |6x—5]
10=| lim ——77=- Al=| lim 5 = undefined Math@MUT
L x—>0- X |X| x(5/6) 30x =49 x+ 20 i
i J=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2] ]
x—0- x =0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=-5 lim f(x)g(x)=-6
x—0- x— 0+ x— 0+
3= flx) 2 :
m =" lim g(x)— f(x) = undefined Math@MUT
L x—0- g(X) 3 x—=>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.5)- x—(-2.5)+
[Page = 0032]

x—(-2.5)
):0:0:9:0:0:9:90:9:9.9:9:0:9:9:0:9:9:9.9:9:0:9:9:0:0:0:9.9:9.9:90:9:0:0:9:0.9.9:9.0.9:9:9.0:9:9.9.:0:9.0:0:0:0:9:9:9:9:0:9:9.0.0:0:9.0.:9:9.0.9:0.9:0:0.9:0.0.9:0.0.0:0:0.9.:0:9.0.:9:0.0:0:0.9:0.0.0.:0:0.0.¢
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Limit03 Answers for No.13637

_ , -
]_ . 2 _ _ . 3 2 _ _ . 2x +x_ﬁ
A=(lim 5x"+3x=54) 2=(lim (3x-2)(5x —x"+x)=152) 3 =] lim 5 =3

x—3 x—2 x4 2x =1

1—4fx 1} [ x—19 j
.4=(lim == S=| lm —/—=8§ G6=(lim 4/3—-x=1)
vl 1—x 2 xo19 A/x—3 -4 x 2

Lo Nmag@®@s~r gk

Ansl = ,
_ o x—1] _ x—4 1
7=(lim |x+2|=3) 8= lim = undefined 9=| lim ——————=—
x> 1 v x—1 x> 4- |x —6x+8| 2
S B _ 20x* =33 x+10
A0=| lim 77—-—=0| .I/=| lim = undefined Math@MUT
L x— 0- |X| X x—(2/5) |5X—2| i
i J=[1lim f(x)=-4, lim f(x)=-4, lim f(x)=-4] ]
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-5 lim f(x)-g(x)=-5 lim f(x)g(x)=-4
x— 0- x— 0+ x — 0+
3= - fx) :
lim =4 lim f(x) g(x) = undefined Math@MUT
L x—0- g(X) x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.7)- x> (47 x> (-4.7)

DG BT ISHERNIVCICH 1D 19:9:0:0:0.0:0:0.0.0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.0.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:0:9.9.9.0:0.0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4
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Limit03 Answers for No.14015
(
- ) 3 5 . 5 ‘ 2P 4x—3 2
A=(lim 5x"-3x"+2x-2=112) 2=(lm (x-2)(3x" -4x+1)=0) 3=| lim —— = undefined M
x—>3 x> 1 xo>2 2x —-2x—-4
3-4/x 1 x—4-1 1 .
.4=[lim =—J .5=[lim —:—J 6=(lim +/3 —x = undefined) !
x—=9 9-x 6 x—=5 x—=5 2 x—=3 h
Ansl =
2
| - x—1 x4 @
7=(lim |x+2|=4) 8=| lim = undefined 9=| lim =4 M
x—>2 x> 1 - X 2. X -
11 _ 2= 9x+10
A0=| lim —+77=0 d1=| lim = undefined Math@MUT T
L xo0- X |x| > (5/2) |2X—5| })
i i _..!(
d=[1lim f(x)=3, lim f(x)=3, lim f(x)=3]
x—0- x— 0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=5 lim f(x)-g(x)=1 lim f(x) g(x)=-6
x— 0+ x— 0+ x = 0-
3= . ftx) -3 :
lim = lim g(x) - f(x) = undefined Math@MUT
L x = 0- g(x) x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-3.4)- x> (34)+ x> (-34)
BECCIEEYEID6/010:010:0:0:010:010:00.0:0:0.0:0.0:0.0:0:0:0:0:0.00.0:0.0.0.0.0.:0:00.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0:0.0:0.0.:0.0.0.0.0.0:0:0.0.0:0.0.0:0.0.0.0:0.0.0.0:0.0'0.0:0.0.0:0.0.0.0.0.0:0.0'¢



| XXXXKXKXKKKKKKKXKXKXKXKXKXKXKXKXXXXXXXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK
L >



